
Can you solve these word problems?  
You could use pretend objects to  

help work them out. 

At the party, Deacon eats 2 ham sandwiches 
and 2 cheese sandwiches.  How many 
sandwiches does he have altogether? 
 
Fraya has 6 sausage rolls but then has 1 
more.  How many does she have altogether? 
 
Betsy has 5 plain buns and 2 chocolate 
buns.  How many does she have altogether? 
 
Harvey has 10 crisps on his plate but his 
mummy eats 1 of them!  How many does he 
have left? 
 
Thomas has 5 sandwiches but he gives 2 to 
his dad. How many does he have left? 
 
There are 9 biscuits left on the plate and 
Charlie eats 3.  How many are left? 
 
 
I’m sure you’ll all be really good at working 
these out.  How’s about a challenge!  Can 
you write them out as number sentences? 


